- EXAMINATION: Tentamensskrivning i Matenatisk Statistile (TMS061)

Lab Dependmg on the performance m the lab 0~5 points w:til be added to
ycur test score to provide with. your ﬁnal score o :

! tion with mean

b} True Qr false If. A and B are events, i;hen P(AMB) > P(A)+P(B)
}ustxf‘y yaur answex: ( 1. 5;3} it : .

s rec : : arn§e a,t a shc}p
betwee»n 3 ané 4 every Saturda.y aff:emo(m for three months.” Which
distribution best describes the recordmgs‘? { Ip)

b} W }}as: are the e:x:pected value aﬁd the variance of a Poisson random
mrmble X f@r which P(Y = 2} P%’X 3;? flp}

5 }&C% GE};}&E’E&%IGQS fromy a r&ndom variable X have given 35 zems, 140
ones; 138 twos, 121 threes and 46 fours. ‘Test using a x° test. the
hypothesis that the random variable X is binomial with n = 4 and
»=1/2. (3p}




.6) a) The randomm varxabie Zis Poxsson with mean value 2 4 Compute
- the probability P(Z > 2)i(1p) - ST

b) The raudom varzable Y is normaliy élstnbuted thh mean value
=3 a,nd sta.ndard devxa.tlon g= {) 8 Compute P(Y > 2) (1p)

7) For the random vana.ble X Wlth probablhty densﬂ:y functzon

)‘3 2 .- ]
f(x)u-;-_vﬁ—-e ;*_z,_ 2>0,

b} Construct a conzﬁdence mterva,l for the true mean ;.a for a = 0.95.
(1p)- -

9} Let the randem va,rs.a.bie X have the probablhty denslty functlon P(X =
_'_ac) 01+605:c' z = 2,

" “b) What is the pmbabﬂzty P(X; Xz > 5) if Xy and sz are mdependent
""" ' ) random va.rzables dxstr}buted hke X7 (2p)

46?’ ?2 59 69 70 67 :,)9

B:54 58 63 62 56 5.5

Assume that the above observatmns are xndependem samp}es from a
normal distribution with the same variance. Test the hypothesis that
the means of the two distributions are also the same with alternative
hvpothesis that are different. o = 0.01 (3p)
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XN (3a) anc =2 X-4

—a) E(X)E[ZX1)- £ EK) -1 - 1 ma= gyt
. > } 2 | 3
Var (1) = va.f/,g,.xfﬂ E .—%m-\/can -;-?L 9=4
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6)a ) P(? >2) = /"‘/)/2 42) e [m-z Y 297)4,
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